HF) Sim (X4 Q) St (X4 ) = 2 Siwa X Crs 4o
_9//54*/1/} (k+Yy )+ Sem (x—y) =
= SIMX Ay + S BGAKX 4 Simx 01y = SimgloaX

= RASWMm X Epa Y

—

48) Som (x—9) + Sim(4-%) 4+ Simlz-x)

s 2D
S(‘MX.S'FAA‘?/ Sf'M?/S(‘sz Sitn § Sim X
.-—>//Sft‘fn (X=y) + Sim4g-3) 4 Sim(2-«) -
, Sien¥ Sieny Siamn'y Simy Sim g Simx
—

= Sim (xX-9) Simg + Sim(§-3) Sim x 4 Sim () Sem g

Sim ZS‘:‘M% Sinn 3~

:{(SA‘MXCM?"—ng?’(MZ) Simy —+ (SiM?‘CrS‘b. -

= SM Y ced tq/) Scm x +(Sem Fcoa X —SZMJ((H})SW%}

SW’(&FM? Scan y

:% S(\MK?’/?SOMB’ - St CpAX Simy & Sty %Sm}x

- ﬁm;rfm Y SimX +§L~M}C&b\sm%-s@mx%%3w ‘fYS
Séex Sinn ¥ S

™



